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Sodium thiosulfate titrant 0.025N WP71781

IODINE SOLUTION  .025N    1L W2410

Starch Solution, 4L W2379

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:
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1 PB117638BL 50 13:4003/05/20190.004.724.720.005.005.021 0.000.28

2 PB117638BS 50 13:4203/05/2019199.602.202.200.005.005.051250 2.522.80

3 K1724-01 50 13:4503/05/201931.874.324.320.005.005.021 0.400.68

4 K1724-01DUP 50 13:4803/05/201930.224.348.664.325.005.031 0.380.66

5 K1724-01MS 50 13:5203/05/2019102.973.423.420.005.005.051250 1.301.58

6 K1724-01MSD 50 13:5503/05/2019104.553.406.823.425.005.051250 1.321.60

7 K1724-02 50 13:5803/05/20199.564.604.600.005.005.021 0.120.40

8 K1724-03 50 14:0203/05/201949.014.108.704.605.005.061 0.620.90

9 K1724-04 50 14:0503/05/201933.334.304.300.005.005.041 0.420.70

10 K1724-05 50 14:0803/05/201941.434.208.504.305.005.021 0.520.80

11 K1724-06 50 14:1203/05/201933.404.304.300.005.005.031 0.420.70
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 K1724-07 50 14:1503/05/201951.004.088.384.305.005.021 0.640.92

13 K1724-08 50 14:1803/05/201950.894.084.080.005.005.031 0.640.92

14 K1724-09 50 14:2203/05/201934.924.288.364.085.005.041 0.440.72

15 K1724-10 50 14:2503/05/201965.213.903.900.005.005.031 0.821.10

16 K1724-11 50 14:2803/05/201947.814.128.023.905.005.021 0.600.88

17 K1724-12 50 14:3203/05/201969.843.843.840.005.005.041 0.881.16

18 K1724-13 50 14:3503/05/201963.873.927.763.845.005.011 0.801.08

19 K1724-14 50 14:3803/05/201944.804.164.160.005.005.001 0.560.84

20 K1724-15 50 14:4203/05/201978.243.747.904.165.005.011 0.981.26

21 K1724-16 50 14:4503/05/201982.543.683.680.005.005.041 1.041.32
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